27/ 4 4

www.gillathletics.com
800-637-3090

721 - FINISH POSTS

Constructed of heavy duty steel with folded square bases. Bases have
wheels for easy mobility. Big, bold letters indicate finish for clear visibility.

> Ledge for photo finish equipment
(supplied by others, mounting
accessories not included)

Wheeled base

54

172"

LN —Z2 — 1§

SPECIFICATIONS

Tie-off for finish
line yarn/tape

—

Copyright ©2009 by Gill Athletics. All rights reserved.

GILL ATH
09-29-09
721_spec



7001 FOLDED BASE
ASSEMBLY INSTRUCTIONS

www.gillathletics.com
800-637-3090

# Part # Description Qty.
1 M726 Black Rubber Foot 4
2 M718 61 mm skate wheel 2
Assemble the base and fasten it to the 3 | M7178 BallBearing _ 4
uprlght as ShOWn belOW. 4 HDWE09078 6-32 X 5/8" Phillips Pan head Screw 4
5 | HDWE030790E0 NYLOCK HEX NUT THIN- 6-32 4
. 11 | M2834 5/16"-18 x 2" Hex Bolt Full Thread 2
Do not over tighten the nylock nut that 12 | HDWE050020E0 5/16" Flatwasher 6
holds the skate wheel in place. The wheel 13 | M2273 5/16"Washer, Zinc-Plated 8
must be able to spin. 14 | M1254 5/16"-18 Nylock Hex Nut, Zinc 4
15 M2207 5/16"-18 x 1 1/2"Hex Bolt, Zinc-Plated 4

Check equipment for loose connections and
re-tighten once per year.

)
o o
O (@)
G .
@\ @
—/
[ I = | | I |
| | 1 I @/:l ) :@ : [
@/“! 10/25/2021
Copyright ©2017 by Gill Athletics. INSTBASE00151
All rights reserved. Page 2 of 2



